H.Rahbar^{1*} and J.Sadeghi²

University of Mazandaran ,Department of Physics, Faculty of science Email: h.rahbar@umz.ac.ir, pouriya@ipm.ir

Abstract In this paper , we study Schrödinger equation with Hartman potential, and discussed the fundamental concepts of supersymmetric quantum mechanics (SUSYQM) , and factorization method in radial and angular part separately . The energy eigenvalues and (radial) eigenfunctions of the Hartmann potential are subsequently rederived using the techniques of SUSYQM

Keywords: Modified Kratzer potential, Schrödinger equation, supersymmetry approaches, raising and lowering operators.

1 Introduction

In 1972, an exactly solvable ring-shaped potential was introduced by H. Hartmann [3], The Hartmann potential is given by the following expression

$$v(r,\theta) = \chi \sigma^2 \left(\frac{2a_0}{r} - q\chi \frac{a_0^2}{r^2 \sin^2 \theta}\right) \epsilon_0 \equiv \frac{\gamma}{r} + \frac{\eta}{r^2 \sin^2 \theta}$$
(1)

where $a_0 = \frac{\hbar^2}{me^2}$ represents the Bohr radius and $\epsilon_0 = \frac{-me^4}{2\hbar^2}$ is ground state energy of hydrogen atom, and χ, σ, q are three dimensionless parameters. The introduction of the parameter q makes it possible to obtain the Coulomb-like potential by taking q = 0 and $\chi\sigma^2 = Z$ in equation(1),[4,8]. This ring-shaped potential was introduced to describe ring-shaped molecules like cyclic polyenes and benzene. Many papers have been devoted to this potential since1972[1,2,5,8]. In this article, the authors presents another alternative method of solution in spherical coordinates using supersymmetry and factorizing method.

2 Separating Variables of the Schrödinger Equation

Now we are going to consider the corresponding potential in spherical coordinates. In order to separate the radial and angular part we consider the following expression,

$$\Psi(r,\theta,\phi) = R(r)H(\theta)\Phi(\varphi) \tag{2}$$

Substituting this equation to the general form of corresponding Schrödinger, we have radial and angular part of equations as following,

$$\frac{\partial}{\partial r}\left(r^{2}\frac{\partial}{\partial r}\right)R(r) + \frac{2\mu}{\hbar^{2}}\left[Er^{2} - \gamma r - \frac{\hbar^{2}}{2\mu}n(n+1)\right]R(r) = 0$$
(3)

and

$$\left[\frac{1}{\sin\theta}\frac{\partial}{\partial\theta}(\sin\theta\frac{\partial}{\partial\theta}) - \frac{m^{\prime 2}}{\sin^2\theta} - \frac{2\mu\eta}{\hbar^2}\frac{1}{\sin^2\theta} + n(n+1)\right]H(\theta) = 0$$
(4)

$$\frac{\partial^2 \Phi}{\partial \varphi^2} + m^{\prime 2} \Phi(\varphi) = 0 \tag{5}$$

The solutions in (5) is periodic and must satisfy the period boundary condition

$$\Phi(2\pi + \varphi) = \Phi(\varphi)$$

from which we obtain:

$$\Phi_{m'}(\varphi) = \frac{1}{\sqrt{2\pi}} \exp(\pm i m' \varphi), \qquad m' = 1, 2, ..., k$$
(6)

Next step, we will try to solve equations (3) and (4) in the following sections.

3 The Solutions of the Radial Part with Factorization Method

In order to solve the radial part of equation (3) we consider the following variables, [17, 18]

$$R(r) = u(r)L(r) \tag{7}$$

therefore,

$$rL''(r) + \left(2\frac{u'}{u}r + 2\right)L'(r) + \left[2\frac{u''}{u}r + 2\frac{u'}{u} + \frac{2\mu}{\hbar^2}Er - \frac{2\mu}{\hbar^2}\gamma - \frac{n(n+1)}{r}\right]L(r) = 0$$
(8)

and compare the following associated Laguerre equation [14-16],

$$rL_{n,m}''(r) + (1 + \alpha - \beta r)L_{n,m}'(r) + \left[\left(n - \frac{m}{2}\right)\beta - \frac{m}{2}\left(\alpha + \frac{m}{2}\right)\frac{1}{r}\right]L_{n,m}(r) = 0$$
(9)

the energy spectrum and radial part of wave function are respectively

$$E_{n,m} = \frac{2\mu}{\hbar^2} \frac{\gamma^2}{\left(\frac{m}{2} - n - \alpha\right)} \tag{10}$$

and

$$R(r) = r^{\frac{(\alpha-1)}{2}} e^{-\frac{\beta r}{2}} L_{n,m}^{\alpha,\beta}(r).$$
(11)

In here we note that the solution associated Laguerre in the Rodrigues representation are,

$$L_{n,m}^{\alpha,\beta}(r) = \frac{a_{n,m}(\alpha,\beta)}{r^{\alpha+\frac{m}{2}}e^{-\beta r}} \left(\frac{d}{dr}\right)^{n-m} (r^{n+\alpha}e^{-\beta r}),$$
(12)

where $a_{n,m}(\alpha,\beta)$ is the normalization coefficient, and also obtained by,

$$a_{n,m}(\alpha,\beta) = (-1)^m \sqrt{\frac{\beta^{\alpha+m+1}}{\Gamma(n-m+1)\Gamma(n+\alpha+1)}}.$$
(13)

Now we are going to the factorize the second order equation from radial part [14-16]. In that case the first order rasing and lowering operators A_+ and A_- with respect to m are ,

$$A_{+}(m;r) = \sqrt{r}\frac{d}{dr} - \frac{m-1}{2\sqrt{r}}$$
$$A_{-}(m;r) = -\sqrt{r}\frac{d}{dr} - \frac{2\alpha + m - 2\beta r}{2\sqrt{r}}$$
(14)

and with respect to n and m are,

$$A_{+}(n,m;r) = r\frac{d}{dr} - \beta r + \frac{1}{2}(2n+2\alpha-m)$$

$$A_{-}(n,m;r) = -r\frac{d}{dr} + \frac{1}{2}(2n-m)$$
(15)

4 The Solutions of the Angular Part of Equation

In order to apply factorization method, we introduce a new variable $x = \cos\theta$, so the angular part of equation is,

$$(1-x^2) H''(x) - 2xH'(x) + \left[n(n+1) - \frac{(m'^2 + \frac{2\mu}{\hbar^2}\eta)}{1-x^2}\right] H(x) = 0$$
(16)

We assume the H(x) as follows,

$$H(x) = f(x)p(x) \tag{17}$$

and compare with the following Jacobi equation [13,14],

$$(1 - x^2)P_{n,m}^{\prime\prime(\alpha,\beta)}(x) - [\alpha - \beta + (\alpha + \beta + 2)x]P_{n,m}^{\prime(\alpha,\beta)}(x)$$
(18)

$$+\left[n(\alpha+\beta+n+1)-\frac{m(\alpha+\beta+m+(\alpha-\beta)x)}{1-x^2}\right]p_{n,m}^{(\alpha,\beta)}(x)=0,$$

one can obtain the angular part of wave function,

$$H(x) = \left(\frac{1+x}{1-x}\right)^{\left(\frac{\beta-\alpha}{4}\right)} (1-x^2)^{\frac{(\alpha+\beta)}{4}} p_{n,m}^{(\alpha,\beta)}(x),$$
(19)

and some following results,

$$(\alpha + \beta) = -2m. \tag{20}$$

In that case the first order operators corresponding to the angular part of equation with respect to m are,

$$A_{+}(m;x) = \sqrt{1 - x^{2}} \frac{d}{dx} + \frac{m - 1}{\sqrt{1 - x^{2}}} x$$
$$A_{-}(m;x) = -\sqrt{1 - x^{2}} \frac{d}{dx} + \frac{(\alpha - \beta) + (\alpha + \beta + m)x}{\sqrt{1 - x^{2}}}$$
(21)

with respect to n and m are,

$$A(n,m;x) = \sqrt{(1-x^2)} \frac{d}{dx} + (n-m)x - \frac{(\beta-\alpha)}{2}$$

$$A^+(n,m;x) = -\sqrt{(1-x^2)} \frac{d}{dx} + (n+m+1)x - \frac{(\beta-\alpha)}{2}$$
(22)

5 The Supersymmetry Approaches for the Hartman Potential

In order to discuss the supersymmetry for this model[9-13], we have to consider the ground state wave function. By using the Hamiltonian process and ground state wave function, we can obtain the $V_1(r)$ as following.

$$V_1(r) = \frac{\hbar^2}{2m} \frac{d^2 \Psi_0''(r)}{\Psi_0(r)}$$
(23)

Solutions of the radial wave equation can be rewritten as

$$H_1 \Psi_0(r) = -\frac{\hbar^2}{2m} \frac{d^2 \Psi_0}{dr^2} + V_1(r) \Psi_0(r) = 0, \qquad (24)$$

Now, we factorize the corresponding Hamiltonian in terms of first order equation , which are called A , A^+

$$H_1 = A^+ A \tag{25}$$

The information from Laguerre equation these first order operators are given by the (rolling) equation .

$$A(n,m;r) = -r\frac{d}{dr} + \frac{1}{2}(2n-m),$$

$$A^{+}(n,m;r) = r\frac{d}{dr} - \beta r + \frac{1}{2}K$$
(26)

where

$$K = (2n + \alpha - m). \tag{27}$$

This leads us to the following potential,

$$V_1(r) = W^2(r) - \frac{\hbar}{\sqrt{2m}} W'(r)$$
(28)

This equation is known as Riccit equation , where W(r) is supper potential and we obtain ,

$$W(r) = -\beta r + \frac{1}{2}K \tag{29}$$

Finally we have ,

$$V_1(r) = \beta^2 r^2 - \beta K r + \frac{1}{4} K^2 + \frac{\hbar}{\sqrt{2m}} \beta$$
(30)

Now , we are going to obtain the Hamiltonian H_2 , As $H_2 = AA^+$ which is partner of H_1 ,

$$H_2 = -\frac{\hbar^2}{2m} \frac{d^2}{dr^2} + V_2(r), \qquad (31)$$

$$V_2(r) = W^2(r) + \frac{\hbar}{\sqrt{2m}}W'(r)$$

Also the corresponding potential V_2 can be obtained by the following expression ,

$$V_2(r) = \beta^2 r^2 - \beta K r + \frac{1}{4} K^2 - \frac{\hbar}{\sqrt{2m}} \beta$$
(32)

where H_2 is ,

$$H_2 = -r^2 \frac{d^2}{dr^2} - \left[1 - \frac{1}{2}(2n-m)\right] r \frac{d}{dr} + \left[1 - \frac{1}{2}(2n-m)\right] \beta r + \frac{1}{4}K(2n-m)$$
(33)

The potential V_1 and V_2 are supersymmetry partner to each other. On the other hand, we have the matrix supersymmetry for the Hamiltonian H_1 and H_2 ,

$$H = \begin{bmatrix} H_1 & 0\\ 0 & H_2 \end{bmatrix}$$
(34)

We note here the H_1 and H_2 can make closed algebra and they relate to Bosonic and fermionic operators ,

$$Q = \begin{bmatrix} 0 & 0 \\ A & 0 \end{bmatrix} = \begin{bmatrix} 0 & 0 \\ -r\frac{d}{dr} + \frac{1}{2}(2n-m) & 0 \end{bmatrix}$$
(35)

and

$$Q^{+} = \begin{bmatrix} 0 & A^{+} \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} 0 & r \frac{d}{dr} - \beta r + \frac{1}{2}K \\ 0 & 0 \end{bmatrix}$$
(36)

Here, we have the following commutation relation,

$$[H,Q] = [H,Q^+] = 0 \tag{37}$$

and

$$\begin{bmatrix} H, Q \end{bmatrix} = \begin{bmatrix} 0 & 0 \\ H_2 A - A H_1 & 0 \end{bmatrix}$$
(38)

In order to satisfy the equations (37) and (38), and

$$H_2 A = A H_1 \tag{39}$$

we have β as follows,

$$\beta = \frac{2n+2\alpha-2D-m+7}{2r} \tag{40}$$

This value of β guarantees the equation(37), [H, Q] = 0Also from equation(37) $[H, Q^+] = 0$

$$\begin{bmatrix} H, Q^+ \end{bmatrix} = \begin{bmatrix} 0 & H_1 A^+ - A^+ H_2 \\ 0 & 0 \end{bmatrix} = 0$$
(41)
$$\Rightarrow H_1 A^+ = A^+ H_2$$

By comparing the left and right hand side of above equation we have two conditions, 2n - m = 4 and 2n - m = 0, we have,

 $\{Q, Q^+\} = H, \{Q, Q\} = \{Q^+, Q^+\} = 0$

$$[H,Q^+] = 0$$

This completely satisfies the anti-commutation relations , $\{\,Q,Q^+\,\}=H,\{\,Q,Q\,\}=\{\,Q^+,Q^+\,\}=0$

$$\{Q^{+}, Q^{+}\} = 0 \Rightarrow \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} + \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} = 0$$

$$\{Q, Q\} = 0 \Rightarrow \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} + \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} = 0$$

$$(42)$$

and

$$\{Q, Q^+\} = H \Rightarrow \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} \begin{pmatrix} 0 & A^+ \\ 0 & 0 \end{pmatrix} + \begin{pmatrix} 0 & A^+ \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} = \begin{pmatrix} A^+A & 0 \\ 0 & AA^+ \end{pmatrix} = \begin{pmatrix} H_1 & 0 \\ 0 & H_2 \end{pmatrix} = H$$
(43)

We note here the super charges commutative together with this happen for degeneracy. Now we are going to continue this process for angular section with aspect of case where the first order operators will be as,

$$A^{+}(n,m;r) = -(1-r^{2})\frac{d}{dr} + (n+m+1)r + \frac{(\beta-\alpha)}{2}$$

$$A(n,m;r) = (1-r^{2})\frac{d}{dr} + (n-m)r - \frac{(\beta-\alpha)}{2}$$
(44)

We take advantage form change of variable $x = \cos \theta$ the first order operators in terms of θ will be as, The corresponding Hamiltonian for H_1 is ,

$$H_1 = -\frac{d^2}{d\theta^2} + n\sin\theta + (\gamma\cos\theta + \rho)\frac{d}{d\theta} + n\gamma\cos^2\theta + m(\alpha - \beta)\cos\theta + -\epsilon\rho$$
(45)

the super potential for ground state wave function $W(r) = -\gamma \cos \theta - \rho$ and the potential V_1 will be obtained by the following expression,

$$V_1(\theta) = (-\gamma\cos\theta - \rho)^2 + \frac{\hbar}{\sqrt{2m}}\gamma\sin\theta = (\gamma\cos\theta)^2 + \rho^2 + 2\gamma\rho\cos\theta - \frac{\hbar}{\sqrt{2m}}\gamma\sin\theta$$
(46)

Copyright © 2016 Isaac Scientific Publishing

Next step we want to make the partner Hamiltonian $H_2 = AA^+$, the Hamiltonian corresponds to V_2 potential, so we have ,

$$H_2 = -\frac{\hbar^2}{2m} \frac{d^2}{dr^2} + V_2(r), \tag{47}$$

$$V_2(r) = W^2(r) + \frac{n}{\sqrt{2m}}W'(r)$$

The final result for the $V_2(r)$ and corresponding Hamiltonian are respectively,

$$V_2(\theta) = (\gamma \cos \theta)^2 + \rho^2 + 2\gamma \rho \cos \theta + \frac{\hbar}{\sqrt{2m}} \gamma \sin \theta$$
(48)

and

$$H_2 = -\frac{d^2}{d\theta^2} - \gamma \sin\theta + (\epsilon - n\cos\theta)\frac{d}{d\theta} + n\gamma\cos^2\theta + (n\rho - \epsilon\gamma)\cos\theta - \epsilon\rho$$
(49)

Where $V_1(\theta)$ and $V_2(\theta)$ are partner to each other, the matrix form for Hamiltonian is,

$$H = \begin{pmatrix} H_1 & 0\\ 0 & H_2 \end{pmatrix} \tag{50}$$

This Hamiltonian makes closed algebra where super charges Q and Q^+ are respectively ,

$$Q = \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ -\frac{d}{d\theta} - n\cos\theta + \epsilon & 0 \end{pmatrix}$$
(51)

and

$$Q^{+} = \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & \frac{d}{d\theta} - \gamma \cos \theta - \rho \\ 0 & 0 \end{pmatrix}$$
(52)

This also closed form of SL(1,1) algebra, so we have

$$[H,Q] = [H,Q^+] = 0$$
(53)

$$\{Q, Q^+\} = H, \{Q, Q\} = \{Q^+, Q^+\} = 0$$

and

$$[H,Q] = \begin{bmatrix} 0 & 0\\ H_2A - AH_1 & 0 \end{bmatrix}$$
(54)

From equation (53) we have obtained the following condition,

$$H_2 A = A H_1 \tag{55}$$

In that case if the relation [H, Q] wants to be satisfied we will have ,

$$\gamma \cos \theta = -\rho \tag{56}$$

Again we consider the following relation , and

$$[H,Q^{+}] = \begin{bmatrix} 0 \ H_{1}A^{+} - A^{+}H_{2} \\ 0 \ 0 \end{bmatrix} = 0 \Rightarrow H_{1}A^{+} = A^{+}H_{2}$$
(57)

Also with comparing the left and right hand side of above equation ,we obtain,

$$(\rho + \epsilon)\gamma\sin\theta = 0$$

$$\alpha - \beta = 0$$
(58)

if we apply the 2n - m = 0, we have,

$$[H,Q^+] = 0$$

{

This completely satisfies the following anti-commutation relations , $\{Q, Q^+\} = H, \{Q, Q\} = \{Q^+, Q^+\} = 0$

$$Q^{+}, Q^{+} \} = 0 \Rightarrow \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} + \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} = 0$$

$$\{Q, Q\} = 0 \Rightarrow \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} + \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} = 0$$
(59)

and

$$\{Q,Q^{+}\} = H \Rightarrow \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} + \begin{pmatrix} 0 & A^{+} \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ A & 0 \end{pmatrix} = \begin{pmatrix} A^{+}A & 0 \\ 0 & AA^{+} \end{pmatrix} = \begin{pmatrix} H_{1} & 0 \\ 0 & H_{2} \end{pmatrix} = H$$
(60)

6 Conclusion

In this paper we introduced the generalized Kratzer potential and wrote the corresponding Schrödinger equation. We connected this equation with Lagure and Jacobi equations and obtained the energy spectrum and wavefunction. Also we factorized the corresponding equation in terms of first order equations. We used these first order equations and discussed the generators algebra. Finally the partner for the Kratzer potential for angular and radial part is obtained by the supersymmetry approches. It may be interesting to continue this research with applying Durbox transformation, in that case one can obtain the corresponding modified potential. We take this potential and obtain the super potential and generators of supersymmetry.

References

- 1. C Y Chen, C L Liu and D S Sun, The normalized wavefunctions of the Hartmann potential and explicit expressions for their radial average values, Phys. Lett. A 305 341 (2002)
- 2. M Kible and P Wintermitz, Dynamical invariance algebra of the Hartmann potential, J.Phys.A: Math. Gen 20 4097 (1987)
- 3. H Hartmann and D Schuch, Spin-orbit coupling for the motion of a particle in a ring-shaped potential, Int. J. Quantum Chem 18 125 (1980)
- C Quesne, A new ring-shaped potential and its dynamical invariance algebra, J. Phys. A: Math. Gen 21 3093 (1988)
- 5. A Kratzer, An ultraround rotation spectra of the hydrogen halides, Z. Phys 3 289 (1920)
- J Pliva, A closed rovibrational energy formula based on a modified Kratzer potential, J. Mol. Spectrosc 193 7 (1999)
- 7. C Berkdemir, A Berkdemir and J G Han, Bound state solutions of the Schrödinger equation for modified Kratzer molecular potential, Chem. Phys. Lett 417 326 (2006)
- 8. C Y Chen and S H Dong, Exactly complete solutions of the Coulomb potential plus a new ring shaped potential, Phys. Lett. A 335 374 (2005)
- 9. E Witten, Dynamical breaking of supersymmetry, Nucl. Phys. B 188 513 (1981)
- 10. E Witten, Constraints on supersymmetry breaking, Nucl. Phys. B 202 253 (1982)
- 11. F Cooper and B Freedman, Aspects of supersymmetric quantum mechanics, Ann. Phys. (N.Y.) 146 262 (1983)
- 12. F Cooper, A Khare and U Sukhatme, Supersymmetry and quantum mechanics, Phys. Rep 251 267 (1995)
- 13. F Cooper, A Khare and U Sukhatme, Supersymmetry in quantum mechanics, (Singapore .World Scientific) (2001)
- 14. M A Jafarizadeh and H Fakhri, Parasupersymmetry and shape invariance in differential equations of mathematical physics and quantum mechanics, Ann, Phys. (N.Y.) 262 260 (1998)
- 15. J Sadeghi, Superalgebras for three interacting particles in an external magnetic field, Eur. Phys. J. B 50 453 (2006)
- 16. H Fakhri and J Sadeghi, Supersymmetry approaches to the bound states of the generalized Woods Saxon potential, Mod. Phys. Lett. A 19 615 (2004)
- 17. J Sadeghi and B Pourhassan, Exact solution of the non-central modified Kratzer potential plus a ring shaped like potential by the factorization method, EJTP 5, No. 17 197 (2008)
- J Sadeghi, Factorization method and solution of the noncentral modified kratzer potential, ACTA Physica Polonica A 112, No. 1 23(2007)